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Write all answers in your bluebook.  Show all of your work.  The exam ends at 11:30.

1.  Consider a two-period pure exchange economy in which there is one non-durable consumption good at each date.  Each consumer in this economy is alive at each date and is endowed with some positive quantity of each good at each date.  Individuals are not identical in their endowments or their preferences.

(a)  (5pts)  Define a general equilibrium for this economy.  

(b) (20pts)  Theories of savings often claim that if the interest rate falls while everything else stays constant, then an individual's desired savings falls.  In the simple savings model described above, could an individual’s consumer equilibrium amount of savings possibly rise when the market interest rate falls?  Refer to a budget-line/indifference curve graph in your explanation.

2.  F.I.N Inc. has he opportunity to undertake a project that would cost $150,000 one year from now, and would provide benefits of $13,500 each year thereafter, continuing forever.  F.I.N. has decided to use the payback period rule, with a cutoff date of Period 7, to evaluate the project.  The market interest rate is 8%.

(a)  (5pts)  Show the process F.I.N goes through to evaluate the project.

(b)  (20pts)  Describe the problems with the payback period rule, using this project as an example.

3.  (20pts)  Consider the following two mutually exclusive projects.  Project I costs 210 now and will provide benefits of 290 next period.  Project II costs 90 now and will provide benefits of 135 next period.  For what range of market interest rates will Project I have a higher NPV than Project II?  For what range of interest rates will Project II have a higher NPV than Project I?   Refer to a graph of NPV versus market interest rate, and explain how you found your answers.   

4.  (25pts)  Carl, a bar owner, receives an offer from Sally, an entrepreneur.  For a total of $4,000 today, Sally offers to lease Carl a cigarette vending machine for the next three years.  Unfortunately, Carl must make his decision today, before he finds out the results of the November ballot measure which will determine the state tax rates on tobacco, alcohol and soda pop syrup.  If the measure passes in November, tax rates on tobacco will go up, on alcohol will stay constant, and on soda pop syrup will decline.  If the measure fails in November, then state taxes on all three goods will disappear.  If the measure passes, Carl calculates he would sell 5,000 packs of cigarettes annually from his new machine, earning himself $0.10 per pack.  If the measure passes, Carl would sell 100,000 beers annually, earning himself $0.20 per beer.   If the measure fails, Carl would sell 20,000 packs of cigarettes annually from his new machine, earning himself $0.10 per pack.  If the measure fails, he would sell 120,000 beers annually, earning $0.20 per beer. Carl believes that there is a 70% chance the measure will pass.   Carl cares only about expected values.   He can borrow or lend at an interest rate of 9%    Describe the process Carl uses to reach a decision on whether to lease the machine.  What is Carl's decision?

5.  Marcus is a recent college graduate looking to put some funds in the stock market.  His grandfather, who had been a banker during the Great Depression, is still jaded from losing his fortune in the early 1930s and tells Marcus to never borrow or lend, but still encourages him to buy stocks.  Assume Marcus exists in the Capital Asset Pricing Model.

(a) (10pts)  Draw a graph of the feasible set of risk and return for all risky assets.  On your graph indicate the Capital Market Line.  Be sure to label your axes.

(b) (10pts)  On your graph from part (a), show, in red, the set of efficient portfolios Marcus could hold if he followed his grandfather's advice.  Explain how you found this set.

(c) (10pts)  Thoroughly explain to Marcus’s grandfather why people who want to own stocks are better off if they can also borrow or lend.  In your answer, refer to your graph from part (a).  

6.  (10pts)  What  are the two questions that the Capital Asset Pricing Model answers?  What are the answers to these questions?

7.  (a)  (5pts)  Define the semi-strong form of the Efficient Markets Hypothesis.

(b)  (20pts)   Describe the evidence for and against the semi-strong form.

8.  Consider the firm GNABS, Inc.  Its assets have a market value of $20 million.  It has 100,000 share of stock outstanding and is unleveraged.  Its earnings under recessionary, normal, and expansionary outcomes are $800,000, $1,500,000 and $2,500,000 respectively.  Each outcome is equally likely.  The firm can borrow at a 5% interest rate.  Suppose that the Modigliani Miller Proposition I and II assumptions hold.

(a)  (20pts)  GNABS is considering a proposal to issue $16 million of debt and use the proceeds to buy back and retire stock.  Show that a homemade leverage strategy could reproduce the same pattern of returns the leveraged firm would provide for stockholders.

(b)  (15pts)  Use Modigliani-Miller Proposition II to determine the expected return on equity for this firm if it adopted a proposal to issue $8 million of debt and use the proceeds to buy back and retire stock.  

(c)  (5pts)  According to the Modigliani-Miller propositions, would either of these two proposals create a better value for stockholders than the current unleveraged status of the firm?  If yes, then explain which would create the best value, and why.  If no, then explain why not.  

